
Plug-In Inversion
Model-Agnostic Inversion for Vision with Data Augmentations
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DeepInversion (DI)
Dreaming to Distill: Data-Free Knowledge Distillation Deep Inversion



DeepInversion
Loss(x, y) = λmainXent(net(x), y) + λtvtv(x) + λnorm∥x∥2 + λbn |bn(dataset) − bn(x) |
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DeepInversion
 

• Different Size


• Different Dataset?


• Different Training Method?


• Different Architecture?


• What about architectures without BN?


• ViTs


• MLPs

Loss(x, y) = λmainXent(net(x), y) + λtvtv(x) + λnorm∥x∥2 + λbn |bn(dataset) − bn(x) |
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Plug-In Inversion

• Augmentations:


• Centering


• Zooming


• ColorShift


• Ensembling

Loss(x, y) = Xent(net(Aug(x)), y)
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Results



Results - Robust ResNet50



Various Architectures



CIFAR-100



Thanks for Watching

Amin Ghiasi Hamid Kazemi Steven Reich

Chen Zhu Micah Goldblum Tom Goldstein


